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ELECTIVE COURSE : ECONOMICS 

EEC-12 : INDIAN ECONOMIC 
DEVELOPMENT SINCE INDEPENDENCE 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Answer any two questions from this section in 
about 500 words each. 	 2x20=40 

1. What do you understand by the term 'structural 
change' ? Bring out the structural change that 
has taken place in the sectoral employment 
pattern in India. 

2. Explain the importance of education in economic 
development. What are the shortcomings of 
India's educational performance ? 

3. How do you define 'Industrial Sickness' ? What 
are the factors responsible for sickness in large 
industries ? 

4. A sound strategy of export promotion should 
incorporate certain important features. Discuss. 
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SECTION - B 

Answer any four questions from this section in 
about 250 words each : 	 4x12=48 

5. Outline the conditions which must be satisfied so 
that the maximum national product is also the 
optimum. 

6. Write a note on the factors influencing the 
productivity of Indian agriculture. 

7. The nature of unemployment in underdeveloped 
economies is different from that in developed 
economies. Discuss. 

8. Write a note on the various Labour-management 
dispute settlement machinery in India. 

9. What is 'trade deficit' ? Explain. 

10. What policy initiatives were taken in mid-1980 s 
towards liberalisation of Indian economy ? 

SECTION - C 
Answer any two questions from this section in 
about 100 words each : 	 6x2=12 

11. Write a note on the issue of environmental 
degradation in India. 

12. Distinguish between 'physical infrastructure' and 
'social infrastructure'. 

13. What are the major objectives of National 
Population Policy 2000 ? 

14. Write a brief note on the problems associated with 
privatisation. 
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